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> x<-rchisg(100,5)

> y<-rchisg(100,50) ot ot

X yeiio sl aazr 5 Jloy QQ lagas

Histogram ofy.
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v > obs<-c(22,27,36,34,29,32)
v > probs<-c(1,1,1,1,1,1)/6
¥ >chisq.test(obs,p=probs)
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probs) odalice g5, 40 ool &) 6 ax=S o aF ghilen
Chi-squared test for given prokabilitcies ~ .
S 4z, 9 FXVYY g0 G5 5 o)bol Jlade 0SS 0
data: obs

|K-squared = 4.3333)[ af = 5,||p-value = 0.5025
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>a<-c(4,7,5,9)

>probs<-c(20,48,12,20)/100
>chisq.test(a,p=probs)

Chi-sguared test for given probkakilities

data: a
X-sgquared = 6€.8167, df = 3, p-value = 0.07798

ng message:

In chisg.test(a, p = probs) : Chi-squared approximation may be incorrect
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>yes<-c(12813,647,359,42) > yes<-c(12813,647,359,42)

>n0<-¢(65963,4000,2642,303) > moc-c (68963, 4000,2642,309)
>chisq.test(data.frame(yes,no)) B =lyEs.ns

cest (data.Iram
Pearson's Chi-sguared test

data: data.fr
[¥-=sguared = 55.224,

ame (yes, noj
224, df = 3, p-valus = £.861=-17
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